The two-way table gives some information about how 100 children travelled to school one

Data - Two-Way Tables

day.
Walk Car Other Total
Boy 15 14 54
Girl 8 16
Total 37 100

(a) Complete the two-way table.

(&)

One of the children is picked at random.

(b) Write down the probability that this child walked to school that day.

(Total 4 marks)
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day.
Walk Car Other Total
Boy 15 2% 14 54
Girl Z2 8 16 4.6
Total 37 52 30 100
(a) Complete the two-way table.
3)
One of the children is picked at random.
(b) Write down the probability that this child walked to school that day.
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